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Question 1 [Compulsory — Case study]
Source: Times of Swaziland SUNDAY, 08 March 2015

(a) With specific reference to the case, how should government balance its need to buy cars
to enable it deliver public services and at the same time pay special attention to social
concerns of the general populace? Where should its priorities lie and why? [20 marks]

(b) Given that the national resources are dwindling gradually, what should guide their
allocation and why? [10 marks]

(c) Explain the role of participation by the people in the allocation of these resources [10
marks] ’

Question 2

Identify and discuss three (3) theories of planned change [3 x 10 =30 marks]

Question 3

With the aid of examples, discuss the concept of management as art, science, and a profession
[3 x 10 = 30 marks]

Question 4

Identify and discuss three (3) theories of time management [3 x 10 = 30 marks]

Question §

Explain the extent to which countries of the South stand to benefit (win-win) from the
process of glabalisation vis-&-vis countries of the North. Use three (3) examples to illustrate

your answer [3 x 10 = 30 marks]

End of Question Paper



